Senior Chemistry Study Guide for… Strong Acids
1. If copper wire is placed in silver nitrate aqueous solution, then what would be meant if the single replacement were in equilibrium?

IF THE SOLUTION WAS IN EQUILIBRIUM, IT MEANS THAT COPPER IS REPLACING SILVER TO FORM COPPER NITRATE AT THE SAME RATE AS SILVER IS REPLACING COPPER TO FORM SILVER NITRATE.  THE REACTANT IS BEING FORMED AT THE SAME RATE AS THE PRODUCT IS
2. What ions will water dissociation into?

OH- AND H+
3. The equilibrium constant, K, is a ratio of the concentration of products and the concentration reactants.  If the concentration of the product increases, then a.) what is the result on the value of K and b.) what is the result of the concentration of the reactants?

A.) K INCREASES       B.)  [REACTANTS] DECREASES
4. Kw is the equilibrium constant for water.  If Kw is 1x10-14, then which is a greater amount: reactants or products? 

REACTANTS
5. How do we use Kw to determine pH of a solution?

KW IS THE RATIO OF [PRODUCTS]:[REACTANTS].  IF THERE IS MORE [H+] BEING FORMED, THAT MEANS THERE IS A GREATER DISSOCIATION OF AN ACID INTO ITS IONS.  THEREFORE, THE pH WILL DECREASE AS THE AMOUNT OF DISSOCIATION INCREASES.  
6. If we spill an acid on ourselves, why do we put baking soda on the spill?

BAKING SODA IS A BASIC SOLID WHEN IN CONTACT WITH AN ACID WILL NEUTRALIZE THAT ACID RESULTING IN WATER AND A SALT
7. Answer the two questions at the end of the video.

1.) 2.006 M HNO3
2.) 1.039  M H2SO4
